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BR[| =] 35 232 sax 41 117% - 6.8 5.1
JEEl BeR 20 181! #ax 30:  150% — — —
%i/é‘iﬁ%& maeR 42 HEE 2 4 90% — 2.5 2.9
TE {EniE [Be R HE -
:a";?é/g"’é‘ﬂ i‘*‘é% 14 :E’Ai 1? -
%i/’%#&% e R 68: Fux 11 -
B ERE SR KHEE T 2 -
T8 ET ) [faEH 4: Enx 4 -
==} BeE 401  101: sax 41:  103% - 2.3 3.6
ok BeR 151  106: sux 15:  100% — 9.8 11.4
= ReER 31 15 Fax 38 123% - 1.9 3.0
EFNEIPN HriBddn |LEdis FREEE AT 10 - - - - - 1.0 1.1 55.2
16 - - - - - 1.1 —
L AT T HY 8 — — 1.2 -
WER THA 8 - - 1.0 -
X E FRHEER NEH 40 - - - - -x 1.0 1.1 46. 3
EENSEEY PN ET L 36 80 80 6/: 186% 1.2 1.4 1.4 45.3
—RRHEE 26 6/ 67 56:  215% 1.2 1.4 1.4
HER I S HERE 5 4 4 4 80% 1.0 1.3 1.3
B REREHE 5 9 9 7: 140% 1.3 1.0 2.0
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55 Uy Sy
PN E =k AR ANE |EREE|ZEBRE|SKRE| f1EE EEEE EH&EFSS
TREE| BEE| BEE T3ERE | 0ERE | NEE 3EE
21l E By — AR HEE 18 49 49 40:  222% 1.2 1.4 1.5
EE R SR HEE 3 4 4 4:  133% 1.0 1.0 1.3
B REREHE 3 3 3 2 6/% 1.5 1.0 2.0
BALETE —fRHEE 8 18 18 16:  200% 1.1 1.4 1.1
TE M SR HEE 2 0 0 0 0% — 1.5 -
BitREREHE 2 6 6 5 250% 1.2 - -
HAREEA i K|E=E 5] 158 158 55 96% 2.9 3.3 3.3 53.9
B E — RN HEE 20 65 65 17 85% 3.8 4.4 3.9
BEREEE|[—RBRLAEHE 37 93 93 38 103% 2.4 2.1 2.9
e 66 27 27 27 419% 1.0 1.0 1.1 -
Bmils — R ANEHEE 26 20 20 20 17% 1.0 1.0 1.0
$EIE — iR NEHEE 40 Ji Ji 7 18% 1.0 1.0 1.1
43 41 41 41 95% 1.0 1.0 1.1
BmisE BeE 23 8 8 8 35% 1.0 1.0 1.0
ZFYEF BEE 20 33 33 33 165% 1.0 1.0 1.1
BALZFK X 17 18 - 15 88% — - - 51.8
H A AR HEE RN S 4 6: sax 4:  100% — — —
£ PR HEE AN S A 5 6: Jax 6: 120% — — -
B PRHER NS 8 6: sknx 5 63% - — -
32 167 - 119:  372% - 1.5 1.4
H A e R 15 55! n=x 47:  313% — 1.4 1.3
£ BeR 10 50! Fax 42:  420% - 1.4 1.2
B BeER ] 62: Fux 30 429% — 1.8 1.7
INLIESE 10 13 — 11 110% - - - 51.2
@i AR HEE RN S 7 11 azx 9:  129% — — —
BE PRHERANZH 3 2. Fax 2 6/% - — -
19 207 - 71 374% - 3.3 2.9
I8 e R 2 47 nzx 8: 400% — 5.0 -
B e R 3 50! n=x 12:  400% — 3.4 -
130 Baen 10 15 Fax 25:  250% - 3.7 4.4
BE BReR 4 35 kax 26:  650% - 1.4 2.9
EFE 1k [EFREE wei 25 143 — 26:  104% - - - 50.9
] 8 7 - 5 63% - = - 45.3
BB IRE S | PR ER NS 2 HE 1 50% —~ — -
EZEGEZ |PREER NS 6 6: Eax 4 6/7% - — -
241 102 - 74:  308% - 1.2 1.2
BYEHREE | R 12 38! Fax 35! 292% — 1.2 1.2
EZ2EMEE|RER 12 64: Fux 39:  325% - 1.2 1.1
e 4 3 — 2 50% - = - 51.7
BY) SR SR HEE RN S 1 2. En® 19 100% — — -
BY) BYE |SERHER NS 1 0: #Enx 0 0% — - -
AR FRHERANES 2 1! ax 1 50% - — —
421 207 - 113:  269% - 1.3 1.4
REBRE BeR 3 16: sazx 10:  333Y% — 2.5 1.3
BY SR |KLeR 1 17: senx 4:  400% - 2.5 5.0
BY BYE |ReR 2 16: sEnx 6: 300% - 1.0 3.0
AR BeE 10 62: Hn= 35 350% — 1.0 1.1
IRE Y= 20 IAREDN 44  220% — 1.3 1.4
EEFEEE|RER 3 11 #nx 1. 233% - 1.8 1.0
TREBET|REE 3 13: senx 1: 233% - 1.3 1.3
HALZFARBX|KE 130 85 85 80 62% 1.1 1.0 1.1 42.8
AR—YHE 34 41 41 39: 115% 1.1 1.0 1.0
—HRHEE 96 44 44 41 43% 1.1 1.1 1.1
FELEY |RKR—ViE 4 2 2 2 50% 1.0 1.0 1.0
—RARHEE 6 0 0 0 0% - 1.0 1.0
AR —HRHEE 35 23 23 20 57% 1.2 1.1 1.1
HRlHERE ETZ 0 0 0 - - - 1.0
BEAR—Y [ RAR—ViE 10 14 14 14: 140% 1.0 1.0 1.0
—RARHEE 35 Ji Ji 7 20% 1.0 1.0 1.0
AR—YRZ|RIR—YH#E 20 25 25 23 115% 1.1 1.0 1.1
—HRHEE 20 14 14 14 10% 1.0 1.0 1.0
2441  277: 213:  249: 102% 1.1 1.2 1.1
WER T HA 181 223: 221 198: 109% 1.1 1.2 1.1
HWBER THR 23 16 16 15 65% 1.1 1.0 1.0
e R MHR - 2 2 2 - 1.0 1.3 1.0
FELEH |BSTI1H 14 22 21 19:  136% 1.1 1.0 1.1
WA M HA 3 3 3 2 67% 1.5 1.0 1.3
24 20 T 2 ET4 0 0 0 - - - -
R HWEeET I H 32 79 79 60: 188% 1.3 1.9 1.4
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BB X - FAIL K- HEE RS TR
55 Uy Sy
PN E =k AR ANE |EREE|ZEBRE|SKRE| f1EE EEEE EH&EFSS
"BEE| BEE| 23FE WEE | "NEE: N5 E "BEE

BEIAR—Y (LS ] H] 65 65 64 62 95% 1.0 1.0 1.1
= L 10 6 6 6 60% 1.0 1.0 1.0
AR HA EFZ 0 0 0 - - 1.3 1.0
AR—YRF|7AY—=FKI1H] 30 33 33 33  110% 1.0 - -
T A — T H] 10 3 1 1 10% 1.0 - -
= -t 70 57 57 57 81% 1.0 1.0 1.1
AR T 2 10 J/ )/ )/ 10% 1.0 1.0 1.0
HBEZI I HER ETL 2 2 2 - 1.0 - 1.0

HFRBEEKX EE 65 76 74 36 55% 2.1 2.4 2.4 54.72
EE NEHERE 54 70 68 34 63% 2.0 2.5 2.6
IR+ 4 Al Al 1 6 6 2 18% 3.0 - -
IR F4EAIL By 3 - -
KTFHAKE 2 - -
457 A 2 - -
457 2R 1 - -
R+ IRAE 1 - -
KrTtFHAFEE 1 - -

AV =FS 40 55 53 26 65% 2.0 2.0 2.3 491
E= NEHE 33 44 42 23 70% 1.8 1.9 2.3
IR+ 4RI A 1 11 11 3 43% 3.7 - -
K TFHEAES 2 - -
K TFHAIKE 1 - -
I+ F4 A 2 1 - -
T F4ERI AR AE 1 - -
K TFREAEE 1 - -

SR’ =P~ xE 480] 358: 358! 330ix 69% 1.1 1.1 1.4 40. 3
2 AR—YHEE 80 24 24 24:x  30% 1.0 1.4 1.0
LN AR—VHE 400 334: 334: 306ix 7% 1.1 1.1 1.1
303 847: 831 445 147% 1.9 1.6 2.2
F7A)—K10AH 1201 158: 158: 155! 129% 1.0 1.1 1.4
MEMITLEY 301 133: 133 370 123% 3.6 1.4 -
e RusREREiER Rl 130 4200 410: 215 165% 1.9 1.7 3.4
fi2ke FAJ—Kr10A| =54 5 5 5 - 1.0 1.3 -
MERT LY 15 19 19 17 113% 1.1 1.1 -
B TR RE T R 10 93 91 88:  126% 1.0 1.4 1.4
KB T7AJ)—Fr10H8 1201 153: 153: 150: 125% 1.0 1.1 1.4
TA)—Fk2H 3 17 17 160 533% 1.1 - -
MERTLE Y 15 114: 114 20 133% 5.7 1.6 -
eI ES)E R 201 119 113 22 110% 5.1 4.8 —
MERIEBIEER 60 3270 319 127: 212% 2.5 1.9 4.9

BEBERNR 85 52 52 39:x  46% 1.3 1.0 1.1 40.8
AR—VHE 85 24 24 20ix  46% 1.2 1.0 1.0
—ARHEE 28 28 19 1.5 — 1.2
RE/REX|RAR—VIHE 60 19 19 19:x  58% 1.0 1.0 1.0
—HRHEE 19 19 16 1.2 - 1.1
BE $RZK(RAR—ViE 25 5 5 T1ix  16% 50 1.0 1.0
—ARHEE 9 9 3 3.0 — 1.2
42 114: 107 78:  186% 1.4 1.1 1.5
WERTLEY 13 19 19 15:  115% 1.3 1.2 -
RERREERR 29 95 88 63:  217% 1.4 1.1 1.5
RE /REX|BSEITLEY 10 12 12 12:  120% 1.0 1.3 -
R & B2 2 R oe Rl 20 62 55 48:  240% 1.1 1.0 1.4
BE YELZBERT v 3 J/ )/ 3 100% 2.3 1.0 -
WRENEEERR 9 33 33 15 167% 2.2 1.3 1.8

REERE 69 29 29 13 19% 2.2 1.2 1.2 41.6
AR—VHE 69 5 5 3ix 19% 1.1 1.2 1.0
—HRHEE 24 24 10 2.4 - 1.2
HRER AR— Y HEE 32 0 0 Oix  19% - 1.3 1.0
—RARHEE 12 12 6 2.0 - 1.1
BEER AR—JHEE 37 5 5 3ix 19% 1.7 1.0 -
—HRHEE 12 12 4 3.0 - 1.3
92 165: 165 139: 151% 1.2 1.3 1.4
WERTLEY 10 15 15 100 100% 1.5 1.2 -
WERERBIERE 82 150:  150: 129: 157% 1.2 1.3 1.4
MEER MERTLEY 5 7 7 6: 120% 1.2 1.5 -
N, ik it 39 69 69 64: 164% 1.1 1.2 1.5
BEERE WMERTLEY 5 8 8 4 80% 2.0 1.0 -
GBI E AR R 43 81 81 65: 151% 1.2 1.4 1.3

ARt 70 90 90 87ix 124% 1.0 1.0 1.0 39.8
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55 Uy Sy
pN= FER =k AR ANE |EREE|ZEBRE|SKRE| f1EE EEEE B1&E 1SS
3| 23EE| 235%E O3 | 22EE | FEE 23
AR—VHiE - 64 64 63 - 1.0 1.0 1.0
AR—YEE|AR—V = x 30 12 12 11 117% 1.1 1.2 1.0
—HRHEE 26 26 24 1.1 - 1.0
REHE AR—VHE x40 52 52 52 130% 1.0 1.0 1.0
49 93 92 70:  143% 1.3 1.0 1.0
T7A')—FKr10H8 4 5 5 5. 125% 1.0 1.2 1.0
RERNREERR 35 13 12 56: 160% 1.3 1.0 1.0
AR—YER|ZAYU—Fr10A| 74 1 1 1 - 1.0 - 1.0
WERTLEY 10 14 14 8 80% 1.8 1.2 -
G R R R PR oe R 30 38 37 28 93% 1.3 1.0 1.0
HEHB FTAY—K10A 4 4 4 4:  100% 1.0 1.0 1.0
FAY)—FkK2A EF L 1 1 1 - 1.0 - -
HRERREERR 5 35 35 28 560% 1.3 1.0 1.1
ARIT R x 125 45 45 41 33% 1.1 1.1 1.1 41.1
AR—Y TR |RAR— Y ) 34 34 30ix 43% 1.1 1.0 1.1
AR—=YSA | RR—ViE x bb 11 11 11ix 20% 1.0 1.2 1.0
63| 205: 201 108: 171% 1.9 1.6 1.7
T7A')—kr10H8 - 19 19 11 - 1.7 1.2 1.0
BERTLEY 19 41 41 19:  100% 2.2 1.3 -
WENEEERR 441 1451 141 18:  177% 1.8 1.7 1.8
AR—=YIR|T7A)—Kr1 08| &4 13 13 1 - 1.9 1.0 1.0
MERTLEY 10 32 32 11 110% 2.9 1.5 -
BRI RRRIER R 24 81 79 32:  133% 2.5 2.1 2.1
AR—YSA|7A)—Fr1 08| &4 6 6 4 - 1.5 1.7 1.0
MERTLEY 9 9 9 8 89% 1.1 1.1 -
e REERE 20 64 62 46:  230% 1.3 1.4 1.6
HAXIEX pr x  bO0[x 138ix 137ix 137:x 274%[x 1.0ix 1.0 1.0 40.9
AR—YVHER 10]* 138:x 137:x 137:ix 274%(x 1.0:x 1.0 1.0
NEHER x40
60 109: 109 87: 145% 1. 1.3 1.2
HRENEREEE 30/ 109: 109 87: 145% 1. 1.3 1.2
BERNFEEE 20
ReENsKERE 10 -
IL—TILERKAE AR (ABBILDE |FREBREEE|x 20 1 1 Tix 9% 1.0 - 1.1 38.7
x b0 22 22 21:x  42% 1.0 1.1 1.1
AL |ReTEEHT7E x50 2 2 2:x  42% 1.0 1.0 1.1
e EARRE 20 20 19 1.1 1.1
XAibZEE X E3°E[7 x 04]x 92 - O1ix 142% - — - 48.7
HEE 1B —RE NS+ 58|x 91 - 90:x 155% - - -
HE2H—BRLAE 6 1 — 1 17% — — -
EEXit - &8 [#EE 1 —HBA |+ 13|x 24: Faxix  24ix 185% — — -
HeE 2 HiI— N 3 I 1 33% - - =
EET7 v iR 1 B—HBNSx 45)x 6/ Faxix 66ix 147% ~ — -
HE2H—RLAE 3 0 oz 0 0% - — -
68 71 - 6/ 99% - - -
AO 18j 54 63 - 60: 111% - - -
AO 2% 14 8 — 7 50% - - -
EREXIE - 81| A O 1 Hf Ji 17 2 16:  229% - = =
AO 2H 4 VARE % 1 25% = = -
EE77 v |AO 1H] 47 46: iz 44 949, - - -
A O 2 Hf 10 6: Fax 6 60% - - -
i3 x 125|x 152 -x 148:x 118% - = - 42.6
HEE 1 HI— AR |+ 115(x 149 -x 147:x 128% - - -
HE2H—RLAE 10 3 — 1 10% — — —
T7yoo ) |HE1BH—BASEx T0[x 92! saxx 92ix 131% — — -
= 2 iI— N 5 ARE Y 1 20% - — -
T7 IS |ME1H—BASE[+x 45]x 57 sax*x  5bix 122% — — -
HE2HH—RAE 5 [ 0 0% - - -
165| 215 - 146 88% - - -
AO 18] 140] 181 - 134 96% - - -
AO2HA 25 34 - 12 48% - - -
27y AO 18] 1101 129: #xax: 100 91% — — -
AO 2HA 10 IS 10:  100% — — -
TJ7yi = |AO0 18] 30 92! Fnxw 34:  113% — — -
A O 2Hj 15 3 FEax 2 13% - — -
=/ * [0[x 123 —ix 121:x 173% - - - 44.6
HEE 1 HI AN+ 60[x 119 -x 117:x 195% - = -
HE2H—KRAE 10 4 - 4 40% — — -
BE . 4T #E 18— E|x 30[x 537 sazix 5Hlix 170% - - -
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B#ER

55 Uy Sy
X FER =y 5 AR AE |ERE|ZBRE[EKE| BExR EEEER B&E T 4SS
3| 23EE| 235%E O3 | 22EE | FEE 23
HE 2 Bi— iGN 5 ANE D 2 40% — — -
THAY - E(HE 1 H—RAR 30|* 66: Faxix 66ix 220% - — -
HE2HH—ROHE 5 2: nx 2 40% - - -
60| 127 - 61: 102% - - -
AO 18 471 100 — 48:  102% - - -
AO2HA 13 27 — 130 100% — — —
BE.-AT|AO1H 12 38! sz 12:  100% - — -
AO2H 3 8 Fnx 3. 100% - - -
THA - E|[AO 1H] 35 62: Fux 36:  103% — — -
A O 2 Hf 10 197 #az% 10:  100% - - -
EBK X 25 80 80 33:  132% 2.4 2.6 2.0 54.8
4 O0—/\)LIKES - 5 5 3 - 1.7 4.3 2.0
BOHE 25 75 15 30:  120% 2.5 2.4 2.1
HAX 4 00—\ JLIRER =T % 1 1 0 - - 1.0 1.0
BoOHE 15 54 54 22 147% 2.5 2.8 2.3
E:7g 4 O0—/\)L{KES EFL 2 2 2 - 1.0 4.7 2.0
Hh I8 BOHE 10 21 21 8 80% 2.6 1.4 1.6
= 70—\ )LIRER ET 4 2 2 1 - 2.0 - 3.0
Py EEBCE RIENHECHEE 5 29 29 10 200% 2.9 - - 47.3
BE 10 25 25 14:  140% 1.8 3.7 1.3 60. 1
2x FEENNEE IR 2 3 3 2:  100% 1.5 5.0 1.3
BREDRR|HENTEOHRE 2 4 4 4: 200% 1.0 2.2 3.0
EREE HIENHECHEE 6 18 18 8 133% 2.3 4.6 1.2
e 1 EERR 4 0—/\)L{KER — 4 4 4 — 1.0 1.2 1.3 43. 6
HAEL 14 56 56 19! 136% 2.9 2.3 1.3 51.8
4 0—/\)LIKES 4 6 6 4:  100% 1.5 1.2 1.2
FRER I B 4 O—/\)LIKES 2 0 0 0 0% — 1.3 1.3
ooz |Ezso<KYBaE 10 50 50 15:  150% 3.3 3.0 1.4
4 0—/\)LIKER 2 6 6 4: 200% 1.5 1.0 1.0
EFE 1t 35 1220 121 47:  134% 2.6 2.1 3.1 53.4
EFE 31t SABCH#E 25 97 97 34:  136% 2.9 2.1 3.3
NHEEFEE 10 25 24 13:  130% 1.8 2.6 2.9
ARIRE | ABIRIE BHOHE 20 90 90 260 130% 3.5 5.5 4.9 49.0
1HEHRFE 10 26 26 100 100% 2.6 2.2 1.6 50. 4
AVEL—3 | AEHE 5 17 17 5  100% 3.4 2.1 1.6
T4 ORIA|NFEHERE 5 9 9 5: 100% 1.8 2.0 1.8
Xv)7 321 110: 110 25 18% 4.4 2.9 2.8 49.6
Xy )7TH| X TRERD 20 93 93 17 85% 5.5 2.8 3.2
4 0—/\)L{KER 10 16 16 )/ 70% 2.3 3.2 2.0
BEFHASHE 2 1 1 1 50% 1.0 5.0 3.0
gao—n|Fo—n)\L#&|aci#E1 28 28 90 90 431 1549 2.1 2.0 2.1 66. 1
BT B mER | ECHE 5 22 22 9! 180% 2.4 1.9 3.0 51.9
AR—Y 20 71 71 211 105% 3.7 3.1 2.5 48.7
AR—YEE| Yy TF7R)— R~ =F4% 2 2 1 — 2.0 1.3 2.0
BCHET7 R — 13 15 15 20 100% 3.8 3.5 2.5
BoHEENR 1
EEX -3 104] 669: 668: 164: 158% 4.1 3.3 3.2 60. 6
FRHERB 24| 354: 353 84: 350% 4.2 3.5 3.0
BlIEEF PR ER B 4 42 42 13:  325% 3.2 2.3 2.4
E-3 SPIRHEE R A 801 315: 315 80:  100% 3.9 3.1 3.5
FRMEEL B 20] 312. 311 11 355% 4.4 3.6 3.1 ]
HE X AX 24] 125 — 68 283% - - - 53. 6
AOREZH - X1t -1 118 - 66 - - - -
FEF KL |AOEFH - Xk 10 b8 37:  370% — - -
AR -EfTF72|A0OT—VERE 1 VHRE 2 214% - - -
AOQ:EZH - X1t 27: #Enx 13 - - -
A—0Ov/A\X|AOEXH - Xt 1 33 Fax 16:  229% - - -
& 45| 258 - 109 242% - — — 45.9
AORNEHER 45| 228 - 05!  242% — — -
AOBEEREH 30 - 14 - - -
ol AORMESEFMR|x 15| 228 #uzx 95:  242% - - -
2E A ORI ESNFLT 15 FENE
#e A OB ES)FLR 15 JEA T
AOBERE 30: #Eax 14 - - -
Rl AOBEERE 15 N E
BE AOBEXRE 15 ENE
e 6 69 - 100 167% — — — -
A OFXREtEE - 11 - 4 - - - -
"= AOLHR—F 3 38! #ax 4: 167% - - -
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BHEE X - FAI KF - HEERASELER
55 Uy Sy
pN= FER =k AR AE |ERE|ZBRE[EKE| BExR EEEER B1&E 1SS
TREE| 23EE| BEE WERE | 0EE [ 2EE 3EE
A O JFRETEIE 4 gopnzx 1 - - -
ATaT7HRHE(AOFYLIUD 3 13 #nx 19 167% - — -
AO1EMA JHEE 2 1 - - -
A O FFRETEIE 1 Fax 3 - - -
EffHE 13 61 — 351 269% ~ — — 50. 4
ER B EZ|AO 5 12: #nzx 8 160% — - -
EE -4 O0—|AO 8 49 Fax 277 338% - - -
EE PN A x 12 21 21 12ix 100% 1.8 2.3 1.6 45 4
EHAER WEANESO—/\[x 12 27 21 12ix  100% 1.8 2.3 1.6
HELAS AR
HAER BeR 6 59 59 8  133% 1.4 5.5 2.8
UNE 3= x 10 5 4 4 40% 1.0 1.2 1.4 -
AREFZ WEAESO—/\[x 10 5 4 4 40% 1.0 1.2 1.4
HELAS AR
x 24 79 57 51ix 213% 1.1 1.2 1.3
AERZE ABEIER IR+ 16 50 50 45:% 281% 1.1 - -
ABRFERIHx 8 29 ] 6ix /5% 1.2 - -
ATAT x 10 19 17 6ix  60% 2.8 2.2 9.0 52.3
HEASES O—/n\[x 10 19 17 6% 60% 2.8 2.2 9.0
HEAS—HE
FHRATLEEARZS I O—/\[x 5 12 12 3ix  60% 4.0 3.5ix 13.0
HEAS—LHE
HEATATHEEAXAZ/O—/\|x b 1 5 3ix  60Y% 1.7 1.3 5.0
HEAS—HHE
5 27 27 70 140% 3.9 4.3 1.2
153, AT L [#8 5 H 5 15 15 2:  140% 7.5 9.0 17.0
HEATAT $’t‘ﬁ 12 12 5 2.4 2.1 4.8
T—43 % x b 3 2 2ix  40% 1.0 - - -
THAY - TIHEAZY O—/\|x 5 3 2 2% 40% 1.0 - -
HEAS MR — -
10 33 31 13:  130% 2.4 - -
THAY - TIRIET YA > 5 20 18 6: 120% 3.0 - -
BaeR 5 13 13 70 140% 1.9 - -
1HE|RT x 6 8 5 1ix  17% 5.0 2.6 4.0 -
HEASZSO—/N[x 6 8 5 1 17% 5.0 2.6 4.0
HELAS AR
1EHRF WEANESO—/N[x 3 3 1 0 0% - 4.0 4.0
HEAS IR 0
HEEERIT |HEELAZY I O—/N\x 3 5 4 1 33% 4.0 1.7 4.0
HELAS AR
6 46 46 12:  200% 3.8 3.7 5.8
A EY 6 13 13 4 200% 3.3 2.8 2.6
waeR 33 33 8 4.1 4.5 9.8
THHRF I PANEN 6 7 7 4:  200% 1.8 2.1 3.0
BaeR 23 23 4 5.8 4.7: 11.0
HMEEFEHRT |BMEV 2RI 7 6 6 0 - 3.0 2.3
waeR 10 10 4 2.5 4.3 8.5
IREE x 10 14 11 11 110% 1.0 1.0 1.2 421
HENEZSO—/Nx 10 14 1 11 110% 1.0 1.0 1.2
HEAS AR
REBAIAE feENE=SO—/\x b 4 3 3ix  60% 1.0 1.0 1.3
HENS AR
RIERESX|HEAZ/ O—/\|x b 10 8 8:x 160% 1.0 1.0 1.0
HEAS—HE
8 19 19 14:  175% 1.4 1.7 1.3
BIEEIE BaeR 8 9 9 6: 175% 1.5 2.0 1.4
RIEREX[RER 10 10 8 1.3 1.3 1.0
BT x ] 25 19 18ix 257% 1.1 1.1 1.5 42.7
WEANESO—/N[x T 25 19 18ix 257% 1.1 1.1 1.5
HEAS MR
BARE EnsEso—N\x 7 8 5 4:x 257Y% 1.3 1.0 1.7
HEENES— AL
EAT HENZST O—/N\ 2 2 2 1.0 1.0 1.0
HEAS—E
Rt T HEASS T O—/N 2 1 1 1.0 1.0 1.5
HENES— AR
ORI [EEAES O—N 3 3 3 1.0 1.0 2.0
HEAS—HE
BEREFEE|HELE/O—N 5 3 3 1.0 1.0 -
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55 Uy Sy
PN E =k AR ANE |EREE|ZEBRE|SKRE| f1EE EEEE EH&EFSS
"BEE| BEE| 23FE TREENEE I CNEE "BEE
HENE—CHE -
Ykl HEANSZS Y O—/N 3 3 3 1.0 2.0ix 1.0
HEAS—JLHE

RFHREI|HEAEZST O—/\ 2 2 2 1.0 - -
HEAS—RHE — —
241 246: 239 176 733% 1.4 1.4 1.5
= — 95 95 57 - 1.7 1.6 1.6
FEEERIA T 1 -| 1320 126 102 - 1.2 — -

BRI me 24 15 15 6: 733% 2.5 1.6 1.5

EATL FREIERA A T 1 132: 126 102 1.2 - -

oy FRIET A A T 1 1.2 -

WM RAT |ZBRIER24 1 1.2 -
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